www.chinapneumatic.com www.chinapneumatic.com /////mm1mm
C€ 1S09001:2000 C€ 1S09001:2000 PRNEUIEC

MAZR S A5 E (R ED
MA Series Stainless Steel Mini Cylinder J 17%2 Stroke

miz TR /AT BIFTE
Bore(mm) Standard Stroke Max.Stroke Permissible Stroke
16 25 50 75 80 100 125 160 175 200 300 500

20 25 50 75 80 100 125 160 175 200 250 300 500 650

25 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650

32 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650

40 25 50 75 80 100 125 160 175 200 250 300 350 400 450 500 500 650

MA-25x25-S MA-16x75-S MAJ-25x75-50
4MEZR~F Overall Dimension
1J9%3 Ordering Code
MA - U - 20x50-25-S - LB - MT
C+ 17 M(Stroke) D
‘ ’ = 7 S P_(H!
a8 Back Cover Type . MA B
S
RIS Series Code l EitmeaE Sensor
AT EIEE Fixed Type = @4
=H: BRE Adjust Storke
g: CS1-U  #
MA: S#E CoM: ER KL Borel ¢ . gl =
MSA: S5 U: FRE =0: # cs1-u
MAD: XisEzhEL Blank: Standard With 1640 0~100mm LB: RifEEEE magnetism switch
MACD: Wéh@ie®  Eye Mounting mm FA: IBEER(EIEZ)  Sensor bend .
MAC: SahiEiha CM: Round Rear Cover BERS M o SDB: FEEER(RIER) e Ry
MAJ: SR ET R U: Flat Rear Cover = Magnet Code ) Zmmzest =
MA: Double Action Type Blank: Normal typg MA-CM =
MSA: Single Extrusion Type — LB: Front & back fixed type
MAD: Double-shaft Double Action Type S: REEE FA: Front cover fixed type
MACD: Double Shaft Double Action Damping Type 172 Stroke Bi AL (Front flange type)
5 lank: Without Magnet
MAC: With Buffer Type S: With Magnet SDB: Back cover fixed type
MAJ: Double-shaft & Adjustable Stroke Type i U: Back Cover Fixed Type
= cﬁﬂ(sugnﬁ' )
142 i ; B3 (S0
G Specification ) E £ IIHQ it
£ -
[ MA-U [
#ERLR/Motion Pattern SzhRisi ez Double Action or Single Action oy ﬂ:
T{EME/Working Medium =5 Air W
ElERs/Fixed Type HAR/Normal Type LBE/Type FAZ/Type SDBE/Type UZ/Type M
{#FAEH5EE/Operating Pressure Range 0.1~0.9MPa
{RIEfIE/Ensured Pressure Resistance 1.35MPa
{&E /iR EEE/Operating Temperature Range —5~70°C R<t=E Dimension Sheet
{#E AR E/Operating Speed Range 50~800mm/s
mima | Lot GRS B i Antoras IOy P Bore i A A 2o e e e en T e e e e 7] K
et Sl Dmpng)Te _ ELED U abl B e 16 114 | 114 | 98 | 38 | 60 | 16 | 16 | 22 | 16 | 10 | 16 | 10 | 5 M6 x 1
L LR M08 =il 20 137 | 128 | 116 | 40 | 76 | 21 | 12 | 28 | 12 | 16 | 20 | 12 | 6 | M8x1zs
) 141 134 120 44 76 21 14 30 14 16 22 17 6 M10x1.25
AIZBLERT Internal Structure o = ey e 32 147 134 120 44 76 27 14 30 14 16 22 qf 6 M10x%1.25
! NO. Doy NO Besination 40 149 | 136 | 122 | 46 | 76 | 27 | 14 [ 32 | 14 | 167 | 24 [ 17 7 M12x1.25
| el 72 Bore L T R Y i R
i __ﬁ;:; = : ma('f;';’; L 16 MI6x15 | 14 | 6 | 12 | 14 | 14 | 9 | 21 | 6 | 5 | M5 | 6 | 24 | 215
B 7] -
& Front Cover Seal Ring 1 Magnet (Optional) 20 M22x1.5 10 8 16 19 10 {12 27 8 6 G1/8' 7 33 29
4 A Bearing 12 TEEER Wear Ring 25 M22x1.5 12 8 16 19 12 12 30 10 8 G1/8" 7 33 29
5! B4R Front Cover Nut | 13 HhEEE Seal Buffer 32 M24%2.0 12 10 16 25 12 15 35 12 10 G1/8" 8 37 32
6 e . O AR 40 M30x20 | 12 | 12 | 20 [ 25 | 12 | 15 [ 416 | 16 | 14 [Gi8 | 9 47 | 41
THRE
7| Stainless Steet Tube | 1° 5 Back Over
8 Bh#iEE A Anti-crash Buffer




/////-ma1mm www.chinapneumatic.com
PNEUIEC (€ 1SO09001:2000

HMEZR < Overall Dimension

MSA MSA-CM
A 17 H(Stoke) 5
B Ce 17 H(Stroke) X Xp = - hﬂ%‘: 5';.')'_{5"“') -
?E AF = < = A TE AR B2y 2 ?G/:H%
o T = T
alxdf Sl I =
oV, eV/W/
M
MSA-U JR~FZ Dimension Sheet )
A A1 A2 G
e 51~ 51~ 51~ | B 51~
g T ——— 7 Bore 10-50 | og | 050 | Yoo | 0-50 | Jo 0-50 | 409
= A; 9] S5
o—i—-l =< 16 114 | 139 | 128 | 153 98 123 38 60 85
= b 20 137 | 162 | 1341|159 | 116: | 141 40 76 101
E 1 25| 141 166 | 134 | 159 | 120 | 145 44 76 101
+v/W/ \M_ 32 14781725 36 5161 120 | 145 44 76 101
40 149 | 174 | 122 144 | 122 | 147 46 76 101
EQOE;G B RES S ES S G SRR K 12 M|P|Q[R|R1|S| U [V |[W]| X |AR|AX|AY
16 16 (16|22 |16 |10 |16 |10 | 5 M6 x 1 M16x15 |14 | 6 |12 |14 (14| 9 | 21 6 5 M5 6 |25 | 22
20 210112 281 12116 200 121] "6~ | M8 x7.25 |t M22x1.5:]| 10 1.8 |'16-119:11 10| 12 | 27 8 6= TGI8 |- | 33]29
25 21(14 (30|14 |16 22|17 | 6 [ M10x1.25 | M22x15|12| 8 [16(19|12|12| 30 |10 | 8 |G1/8" | 7 | 33 | 29
32 27 (14| 30|14 | 16|22 |17 | 6 | M10x1.25 | M24x2.0 |12|10]| 16| 25|12 | 16| 35 | 12| 10 | G1/8" | 8 | 37 | 32
40 27 (14 (3211412224 |17 | 7 [ M12x1.25 | M30x2.0 |12|12|20 (25|12 | 15|41.6| 16 | 14 | G1/8" | 9 | 47 | 41
4YMFZR<F Overall Dimension
MAD MAJ
B e: gg_(glz::::)) = B+ [ H(Stroke) AY C+ “A!s‘;’:i:)smn)xz B £ (Suoke AY
Fl.G. G | F T HSone) 0
ARG | 2:x o | 2:x ‘j@}i‘L
) [k ‘\ e =
Tl = AN » ~H K%\\
o = =& (O3 = — “ERRE@HE
W - ‘\% TeH RGTW &J
i 0 107 5 136 20 T 8 0 L [M|uU|[V|w]| X |AR[AX|AY| T
16 13613538 |60 [ 22 (16 (|10 |16 | 10 | 5 M6 x 1 M16x1.5 | 14 | 21 6 a M5 6 | 26|22 ]| 16
20 156168740 | 201 28} 12| 16 ) 20/ | 424 G| M8x1.25 | M22x1.6/| 10729 9 6. 1 G1/8Y |- T 33129 | 19
25 164|161 | 44 | 70 [ 30 [ 14 (16 | 22 | 17 | 6 |[M10x1.25| M22x15 | 12 | 34 |10 | 8 |G1/8"| 7 3\/129 | 2
32 164 |161| 44 | 70 | 30| 14 |16 | 22 | 17 | 6 |M10x1.25| M24x1.5| 12 (395 12 | 10 | G1/8"| 8 373229
40 168|164 | 46 | 92 | 32 | 14 | 22 | 14 | 17 7 |M12x1.25| M30x2.0 | 12 {495 | 16 | 12 |G1/8"| 9 47 | 41 | 21




